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Day 14

Chapter 5

Vocabulary

- contrapositive proof

Proposition 1. If a is an integer, then either @ is even or a is odd, but not both.

Proposition 2. Suppose x € Z. If x> — 6x+5 is even, then x is odd.

Outline for Contrapositive Proof
Proposition. If P, then Q.
Proof. Suppose ~ Q.

Therefore ~ P .

Proposition 3. Suppose x,y € Z. If 5 does not divide xy, then 5 does not divide x and 5 does not
divide y.
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Proposition 3. Suppose x,y € Z. If 5 does not divide xy, then 5 does not divide x a

divide y.

nd 5 does no
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